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8,000& x10H 30 2,400
02 =224l 258,076 247,972 10,104
O1.2323LAHA 195,996
—SEHFEX Bz RE== 122,796
FIELAIA S E A 1,960% *3,00021 x12& 70,560
SUDXNA 330& *2,50021«12& 9,900
== 2 2F012 DXAM
1,960& +1,0004 x12& 23,520
CYRIXA 1,960 *8002 «12& 18,816
—WEXNEXE MAMSU=s 3,000,000& 3,000
-ROIHECCTV 3 E AIEE
190, 000& »30CH x12& 68,400
-ROIEERCCTV M3 30,000 «5CH»12& 1,800
O3. A& & Hl s X bl 53,080
=83 &= H |X2el 4,000,000 4,000
-POIEZAIAE(CCTV) SR E=
90,000& *x29CH 128 31,320
- HE Stoiet(CCTV) |2
250,000& 2CH 128 6,000
SR E 2R A dUAAE RIS
850,000& »12& 10,200
A EIE BEHHE S HMAAIAY RAE+
130,000& = 12& 1,560
O4. Xt o el 9,000




FAN: nSX .
BE: 58N0 FUHIVe(+LLDE/HERE - 2RSIIEH
AEBMS(EARSAESESIAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-58 4,500,000 »2CH 9,000
202 oddl 3,600 2,700 900
01 = LH 4 1l 3,600 2,700 900
Ousac O Hl
60,000 *4H 32 53] 3,600
301 YU B A 107,767 80,000 27,767
08 MaIERRA 103,127 80,000 23,127
OM=E2E 103,127
-Jlga 366,229 *x11H«12& 48,343
-S4l 7,0003 «11H 22«12 20,328
- EH| 2,6003 x11H 22U «12& 7,551
= DAR==FS =] 2,6003 x 1122 +128 7,551
-0F2t = Al H| 7,0003«8H 20« 128 13,440
285 327,600 11 3,604
-ghet=s 140,000 *»11H x 13| 1,540
-87% 5,000& x11E *13] 55
= 35,0003 x118+13] 385
-0r& =7 30,000& x 118 x13] 330
09 HALAHIEA S 4,640 0 4,640
OSHFIX S (ARSI S
100,000& 40 * 13l 4,000
OSY=EX dutsd A3as sS4
8,000& »40H 23| 640
401 Al HI L ROl 80,000 50,000 30,000
01 A& HI 80,000 50,000 30,000
ORolch =T s WoJIAel)
30,000,000 = 1CH 30,000
OfRelg= ¢ 10,000, 000& «5H 2~ 50,000
SEFENYHE (L& SSYFNEAHEXNA)KER 2,905,220 601,890 2,303,330
>
Xl 1,450,000
Al 1,455,220
401 Al HI & 28I 2,905,220 601,890 2,303,330
Xl 1,450,000
Al 1,455,220
01 A& HI 2,900,000 600,000 2,300,000
Otiols 43 & =XE A
2,900,000, 000& 14! 2,900,000
Xl 1,450,000
Al 1,450,000
03 A& S THHI 5,220 1,890 3,330
OUolE 458 SEFXE HE AE2UHI
2,900,000, 000& *0.36/100%50%< & 2> 5,220




M RSXHL.

M 580l FAIVR(LSLDE/HEDE - SRSIIE)

Sl FUHIME(ZALSMHESESN) (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
AN&zelsg HE3(33AMEE) 3,095,386 2,682,959 412,427

9 HES 2,886,227 2,599,659 286,568
01 SAH- SHIYTES 2,886,227 2,599,659 286,568
OAE 2SS SSAIEE F4dES 2,886,227
-S8FIE 2,886,227,000& 2,886,227
404 SNSEHIUZ2HES 209,159 83,300 125,859
01 SAt - SHNUI=2EES 209,159 83,300 125,859
OAE2cISH SSAEE H=2dES 209,159
-SEFIE 209,159,000 209,159
HY2HAH (WSXE ) (INIEH/IIE) 469,004 434,668 34,336
OARAH(SALSAHESSSIH) 328,008 299,254 28,754
AR (TAI NS AY) 297,270 273,429 23,841
101 @l 28] 297,270 273,429 23,841
02 JIEtR B4 297,270 273,429 23,841
ONZHEHMAINH('0H S SHEYR &
%) 149,907
S 25,470,500 x5% +32/40 101,882
At 2R E 8, 1173 +5E »10A| 2t+ 12 4,871
-tE=g 3,600
B <= Xt 40,0003 »4H x 12 1,920
JIEHNE 20,0002 x7H «12& 1,680
-NHESHIEXE 467,080& 1 *4 3 1,869
S R=g 125,000% x5 » 122 «32/40 6,000
- AZ A 130,000& x5 122 7,800
-terE syl 50,0002 5% 12 «32/40 2,400
01} & AL H|
19,021,200 x5% 1/ 12%84%*86%+1/30%1/6. 4* 2,863
96Al 2+
—SaNesy 83,2202 5% * 122 4,994
4R RS 136,279,0002 *10% 13,628
OSY=ZX &t AZHSMYIIN TSH (8
) 2,090
=225 130,000 & *5& »23] 1,300
-gets 110,000& x5 550
-2Xx 8,000 x5 40
= 40,0003 5 200
OANZHAHAINM('O'S: =7 sHFEX &
=) 143,183
-9s 24,213,250 x5 «32/40 96,853
“AN2ZRZ2ReE 8, 1173 x5 »10Al 2t 12 4,871
hE=g 4,800
BH < Xt 40,0008 x5 x 12 2,400
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2N
X ZH -
L= B

el

20t
FZHl(
SHI(ZA

==
(=)
WSAHESEEA)

.ol () - HRAY - By S il
° JIENE 20,0003 x10Y¥ x128 2,400
s R ] 125,000 5% 12 x32/40 6,000
- UG A 130,000& x5H x12& 7,800
-tHel g sl 50,000& «5%H »12& «32/40 2,400
-2 AkY|
18,015,400 *5% »1/12x84%*86%+1/30*1/6. 4* 2,712
96 Al 2F
SR 78,8203 x5 128 4,730
-AHEE J22RE3 130, 166,000& * 10% 13,017
OSYFII &= ANZAEHHMAINM T=s0I(=
) 2,090
255 130,000 x5 »23] 1,300
-gst=E 110,000& x5H 550
-2 Xt 8,000& x5H 40
= 40,0003 x5H 200
A2GH(SAI RS AIY) 30,738
jellal=] 30,738
SIHHAAZZXNE S 30,738
OSHFIX RAULZAFAN JREX(SR) 30,738
-Jlzg 1,180,540 x1H x 123 14,167
-& 03 1,180,540& » 1H x450% 5,313
-8 E F O 1,180,540 1% x120% 1,417
- A G A 130,000& 1H 128 1,560
s 40,0003 x 18 128 480
—2EIHAS 40,0003 x 18 «128 480
PN = 58,9003 x 1 20 1,178
-E2=E 1,180,540& » 1H »45%*23] 1,063
-WSE2 A4 70,0003 x1H 123 840
e Rt 1,180,540 x1H »10%* 122 1,417
EJCENESE =, 235,180& x 18 128 2,823
|2ZH (SARSALSHEIH) 140,996
f A2 7,796
201 £B-2dH| 7,796
01 AtR 2/t 7,316
ORN2Y Yotsgy| 3,780,0002 3,780
ORN2YE =&l 1,152,000 1,152
O=SAD Xtz 132,000 x 1+ 12& 1,584
O=AMI, ZgH |KXE =+ 800,000& 800
02 =24l 480
ORN2YE 23R2= 480,000& 480
o2 =X Oy 129,600




2AMd: DS
M HE2GFU (LS X)) (IIEHIIE
& J2dEl (Al nSAMLSESH) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 129,600 124,800 4,800
01 = LH 4 Hl 129,600 124,800 4,800
FRAUPFAAL 20,0002 x16F 152 128 57,600
OAMZtHIEE I M =RYF=E L 36,000
-3 20,0003 «5H» 152« 128 18,000
-= 20,0003 x5 15128 18,000
Onszel =d2F80ol 36,000
-g 20,0003 x5 15 128 18,000
-= 20,0003 «5H 152« 122 18,000
2R =& 3,600 3,000 600
203 YR =&l 3,600 3,000 600
04 FNSELR=LH| 3,600 3,000 600
OSNSYAREALI (ZR:16)

300,000& 12 3,600




